MATH 123.001 Quiz #14 06/26/2007

Name
SHOW AS MUCH WORK AS POSSIBLE BECAUSE YOU MAY RECEIVE PARTIAL CREDIT FOR THE WORK YOU DO IF YOUR ANSWER IS INCORRECT.

4 -7 3
. A=[1 -1 1
4 -5 4

Find A™ by row-reducing (A |I) making sure to clearly show and describe each step.

Check what you get for A by multiplying it by A.

4 -7 3 |1 00
(Alh= {1 -1 1 |0 1 0
4 -5 4 00 1

Rb— (1 -1 1 |0 10
R— |4 -7 3 |100

4R +R,— |0 -3 -1 |1 -4 0
4R +R,— 0 -1 0 |0 -4 1

1 -1 1 0 1 0
-R,— |0 1 0 0 4 -1
-R,— (0 3 1 -1 4 0
R,+R— (1 0 1 0 5 -1
010 0 4 -1
3R, +R,— (0 0 1 -1 -8 3
-R,+R— (1 0 0 1 13 -4
010 0 4 -1
0 0 1 -1 -8 3
1 13 -4 4 -7 3\1 13 -4\ (1 0 0
A'=10 4 -1 A-A'=l1 -1 10 4 -=1|=[0 1 0f|=1
-1 -8 3 4 -5 4)\-1 -8 3 0 0 1

Section 3.5 Inverse Matrices and Systems of Linear Equations



